H £ 0l & AF & S

Olat LB JFES A

Al A

2A: JIE=EX
M d=EXSE
el Aet Ot =4 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
JtE= X1 79,342,373 75,876,153 3,466,220
= 38,555,398
= 334,428
J| 4,387,634
Al 25,220,971
- 10,843,942
He=XSE 11,309,930 10,664,709 645,221
= 2,793,031
| 3,232,986
Al 3,688,615
- 1,595,298
28t I8 |4 2,849,376 2,715,436 133,940
= 1,392,131
J| 296,363
Al 846,289
- 314,593
HEHASH 27,591 27,591 0
201 LB-2AH| 7,191 7,191
01 AtR2telt] 7,191 7,191
OUA=SXSE (LN - A=Y S) &8
= S M# 1,000,000& 1,000
ORI =] 4,000
OdEASHINHX
4,000,000& 4,000
OdYEdsHEIIRAS 329 =
, 0002 *x10E *13] 700
OXE A=A (LSS, 5000, &5 - IIHE=H)
(G{=amE= 1,491
OZ A=Y 390,000& *32! 1,170
(©nE=t:] 107,000 32| 321
202 0idl 400 400
01 =LHOAb| 400 400
O&20dy| 400,000& 400
307 212+01™ 20,000 20,000
11 Al =SXAMEES 20,000 20,000
OLHBESF2I|IE AL 10,000,000 10,000
OWEXNIEX /I35 10,000,000& 10,000
GECHH ESKI2 8,270 8,670 2400
203 PRF=&IY| 770 1,170 2400
03 A FRIHRFAIY| 770 1,170 A400
OFRAIM=H 770,000 770
307 212+01™ 7,500 7,500
02 QItBAAIH E X 7,500 7,500




SN JIE=XD
33 od=Nsd
el 2t Y |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OW-THASALA B 0tE U=l
7,500,000& 7,500
HdZStEAl &4 4,200 4,200
201 er=23y| 4,200 4,200
01 AtR2t2|HI 2,400 2,400
OWdZlatz Al SHHE 2EH
2,400,000& 2,400
02 S52g4l 1,800 1,800 0
O dZet=Al SHE S8R S 1,800
ostes 50,000& * 122 600
oxlIIea 30,0003 * 12 360
OSRQBHANABEERZ
70,0003 * 122 840
otol=EXIH 1,906,563 1,906,563 0
= 1,336,214
Al 570,349
307 elztol & 1,906,563 1,906,563 0
= 1,336,214
Al 570,349
10 Al SXAAEEHE 22X 196,324 196,324 0
OOLOISZXIRAIS 2]
196,324,000 196,324
= 137,427
Al 58,897
1 ABI =S XA X 1,710,239 1,710,239 0
OOIISE XA Alit]
1,710,239,000& 1,710,239
= 1,198,787
Al 511,452
OL0IES =IHAIE 106,872 0 106,872
Al 53,436
- 53,436
307 @I2t01 & 106,872 0 106,872
Al 53,436
- 53,436
11 AMRISXAEEES 106,872 0 106,872
OOtoI==0| AZ2eldl X
5,160,000 5,160
Al 2,580
- 2,580
OAZ =20l WEHl X2
101,712,0002 101,712
Al 50,856
- 50,856




2A:
X XH -
o e

=aak

==X
CEESES
A IHE |4

8 =4 (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CietSsdE 23l 3,600 15,600 A12,000
= 1,800
Al 900
- 900
307 212+01& 3,600 15,600 212,000
= 1,800
Al 900
- 900
10 Al SXA2EE 22X 3,600 0 3,600
OtrgN=ssdH=23I 3,600,000& 3,600
= 1,800
Al 900
- 900
Osg=sdy 2QHI(XHH) 12,000 0 12,000
307 21201 & 12,000 12,000
05 2IR”IRIE = 12,000 12,000
OtIE#=HE 2EHI(XH)
12,000,000 12,000
CIetSsSdE 2] 53,040 53,040 0
= 26,520
Al 13,260
- 13,260
307 lztol & 53,040 53,040 0
= 26,520
Al 13,260
- 13,260
10 Al SXAEEE 22X 53,040 0 53,040
OtigNEs4E 22| 53,040,000 53,040
= 26,520
Al 13,260
- 13,260
CIEINESHE SAL =E 8,080 3,120 4,960
Al 1,560
- 6,520
307 elztol & 8,080 3,120 4,960
Al 1,560
T 6,520
10 Al SXAIEEHE 22X 8,080 3,120 4,960
OtUgNEsdE MM
3,120,000& 3,120
Al 1,560
- 1,560




2A:

X XH -
o=

==Xt
REEINESS

ohelr A28 JHE |4 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OCIENESZHE SAXIE (XHR)
4,960,000 4,960
SSF0LUsH 229 At 55,194 54,846 348
= 27,597
Al 27,597
307 2I2+01™ 55,14 54,846 348
= 27,597
Al 27,597
11 AR SXAMEE R 55,14 54,846 348
O3s=s0tU=sH 29 X
55,194,000& 55,194
= 27,597
Al 27,597
CtEsts XI& 24,980 24,980 0
Al 8,000
- 16,980
201 B2 AY| 930 930
01 A=R2teld| 980 930
OU=ZsEXEE 23 sl& A=Y
70,0003 7 B 23| 980
307 212+01A 24,000 24,000 0
Al 8,000
- 16,000
11 AR SXAMEES 24,000 16,000 8,000
O3 UE3PHE HEstote
8,000,000& 8,000
OURSIIE AR|EHE & I EFA K
& 10,000,000 10,000
Al 5,000
- 5,000
OLEZaINE WS 6,000,000& 6,000
Al 3,000
- 3,000
I=HEH 22 265,140 263,840 1,300
| 132,570
Al 66,290
- 66,280
307 212+01 ™ 265,140 263,840 1,300
| 132,570
Al 66,290
- 66,280
10 AISIS XA EEE2IHIE X 265,140 263,840 1,300
OJI=4H 22 265, 140,000& 265,140
| 132,570




2A:
PSR
ool

==X
od=Xsd

AU IIE KA

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 66,290
- 66,280
IISHE SALL = 10,200 10,200 0
Al 5,100
- 5,100
307 QI2Hol ™ 10,200 10,200 0
Al 5,100
- 5,100
10 Al = XA EHE2FHIE X 10,200 10,200 0
OJNEMEl BN LM
130,0002 x5H 1201 & 7,800
Al 3,900
- 3,900
OJIFHEH SALA A=Y
40,0002+ 1201 = 2,400
Al 1,200
- 1,200
Ct=23t S3tate 303,086 303,086 0
| 151,543
Al 75,772
- 75,771
307 gI2Hol ™ 303,086 303,086 0
| 151,543
Al 75,772
- 75,771
11 AL =SXAMEES 303,086 303,086 0
ONUYS o NHME S Y2DSTUN
HIA 163,008,000 163,008
| 81,504
Al 40,752
- 40,752
OUZ2SItE Atdl2el X2
35,850,000 35,850
| 17,925
Al 8,963
- 8,962
OZE0I2X SHAMHIA X
31,788,000& 31,788
| 15,84
Al 7,947
- 7,947
OU2&0tE HEHANHYE K&
38,498,000 38,498
| 19,249
Al 9,625




2A:

E M

==X
od=Xsd

el H2E OHE =4 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 9,624
O0lse0 Jt=ssd =4
33,942,000 33,942
| 16,971
Al 8,485
- 8,486
Ct23t EStAE SAHA =2 8,160 8,160
307 QIZt01 A 8,160 8,160
10 ASIZ A S Y22 X 8,160 8,160
OCH23t SBIAY EAXE HLIHAH|
130,0002 x4 H 1201 2 6,240
OCH23 SEHAIR! BAIRH X2
40,0002 +4Z 1201 = 1,920
ZA=0I8IA HELSKIR 24,500 24,500 0
| 12,250
Al 6,125
- 6,125
307 QI2Hol M 24,500 24,500 0
J| 12,250
Al 6,125
- 6,125
11 AR SXAMEER 24,500 24,500 0
OZE0I8IX dzdst N
24,500,000 24,500
J| 12,250
Al 6,125
- 6,125
MIISXIAE SAMX XES SXNEUE XA 17,900 15,200 2,700
Al 17,900
307 QIZ2t01 A 17,900 15,200 2,700
Al 17,900
10 Al S XA EEHE2IHIE X 17,900 15,200 2,700
OAISISXIAIE SAL LESE SKIELE
X& 17,900,000 17,900
Al 17,900
MIZSXIAE SA XS SXEZAE =t XA 10,000 10,000
307 gI2Hol ™ 10,000 10,000
10 Al S XA EEHE2FHIE X 10,000 10,000
O/\}EIEII/\IQ SAA & EE SXEE
ZF=IF K& (XEA) 200,000 *50F * 13| 10,000
SIRERIIE XA 4,333,728 3,830,900 502,828
| 2,721,702
Al 1,146,226
- 465,800




A IE=SAH
HE: (NSRS
o R2ItE K& (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SIRRIIENHLFHIS K2 3,378,478 2,851,860 526,618
| 2,702,782
Al 675,696
301 LPBNEZ 3,378,478 2,851,860 526,618
J| 2,702,782
Al 675,6%
01 A BEAH 2 (R RNEETR) 3,378,478 2,851,860 526,618
Ost22I1E ols2sdl A&
200,000 *1,250F 122 3,000,000
| 2,400,000
Al 600,000
OsteE2ItE Fiots=sd| X
306,000,000 306,000
| 244,800
Al 61,200
Os22ItE 1M 24| N
58,678,000& 58,678
| 46,942
Al 11,736
OIS MEPEZ NE
50,0003 *23&*12& 13,800
| 11,040
Al 2,760
HAEs22 NI 23,650 25,540 21,890
| 18,920
Al 4,730
301 LB NZ 23,650 25,540 A1,890
| 18,920
Al 4,730
01 Al B &N Z2(2REETR) 23,650 25,540 21,890
OFAEHSREDR 0tSYFH| X
150,000& 12 x 123 21,600
| 17,280
Al 4,320
OFA2FHERE HAF DAl st K&
850,000 x 15 850
| 680
Al 170
OFAHSER IEs8E K&
100,000 x1H 123 1,200
| 960
Al 240
SHREIE e X2 931,600 949,000 A17,400
Al 465,800
- 465,800




A IE=SAH
HE: (NSRS
Chelr SHREIE K (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 931,600 949,000 A17,400
Al 465,800
- 465,800
2 MBI EHEAHS(HAHS, NLH) 931,600 949,000 AT7,400
OBIEEIIE FAKZ XL
2,000,000& +5Y 10,000
Al 5,000
- 5,000
OS2 2ItE JHAIXIAY] XA
50,0003 <690« 123 414,000
Al 207,000
- 207,000
OstRE2It=E sl X3
507,600,000 507,600
Al 253,800
- 253,800
SIREIIESEIAE 2 1,122,843 1,099,144 23,649
| 142,383
Al 977,485
- 2,975
SIREIESIAYE 29 I# 894,874 95,258 260,384
Al 894,874
307 212+01™ 894,874 955,258 260,384
Al 894,874
e NEEEEETEES 850,874 905,258 54,384
OB RIIELTIAIL SHHI(3H4)
850,874,000& 850,874
Al 850,874
11 AR SXAMEE R 44,000 50,000 A6,000
OB=RIE=TAL SAT HEHES X
& 3,000,000& x6H*13] 18,000
Al 18,000
OSRL2INE=XAE IIFHE 2 X=3=
X3 26,000,000& 26,000
Al 26,000
SIRRIIE=RIAIE AKX &Y 39,502 25,720 13,782
XEX&
| 19,751
Al 19,751
307 2I2+01A 39,502 25,720 13,782
| 19,751
Al 19,751
11 AL SXAMEES 39,502 25,720 13,782
OetRE2INE=XNAIE 4K 4EXIE X3
39,502,000 39,502

_8_




M IESIL
MM HHENSA
&2l SREIE=SNAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 19,751
Al 19,751
SIRIIIESTIAL O0ISSAHIA XI& 111,696 95,69 16,000
Jl 78,187
Al 33,509
307 gl2to| & 111,696 9,6% 16,000
Jl 78,187
Al 33,509
MBS XIMBEE 111,696 95,696 16,000
OIRI2IIE=RIAIE O0ISSAMEIA X
111,696,000 111,696
7l 78,187
Al 33,509
SIRZIIE=IAE JIsEZ K& 88,702 11,000 47,702
Jl 29,351
Al 29,351
402 I2FX=01 & 58,702 11,000 47,702
) 29,351
Al 29,351
02 BIENZASEZ(0IETHR) 58,702 11,000 47,702
OstREIHE=ENAE JIsE2S X
58,702,000 88,702
Jl 29,351
Al 29,351
SIRIIIESIALE A= 2 K& 18,069 11,520 6.549
Jl 15,094
- 2,975
301 EtE N = 18,069 11,520 6,549
Jl 15,094
- 2,975
0 MSRREEYS 18,069 11,520 6,549
OA =23 2d= 18,069
= 11,520,000 11,520
7l 11,520
OusEHl s 1,174,000& 1,174
Il 1,174
OXRu=H| 2,400,000 2,400
Jl 2,400
OSAHI 2,975,000& 2,975
=S - 455 X 162,983 149,179 3,804
Jl 72,538
Al 77,565
- 2,880




2A:

==X

o HY=XBT
Rl JHEEY - 425 YA EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
IHEEES Ot AZsls Z20d 2 29 XA 1,453 1,453 0
7| 1,017
Al 436
301 LBtENZ 1,453 1,453 0
Il 1,017
Al 436
01 AIBI2EEAH2(2DEETR) 1,453 1,453 0
OJFE=Z mshkt 22| 1,453,000 1,453
7| 1,017
Al 436
HEY ML 2 139,152 134,008 5,054
7| 69,576
Al 69,576
307 2120l 139,152 134,008 5,054
p) 69,576
Al 69,576
10 AlBISXALH B 2AY 2 X 139,152 134,008 5,054
OMd=Zaaes 29 139, 152,000 139,152
Il 69,576
Al 69,576
k1= P= e S L= 9,600 9,600 0
Al 6,720
2 2,880
307 2120l 9,600 9,600 0
Al 6,720
7 2,880
10 AlBISXALH B 2HY B X 9,600 9,600 0
OSZ2MEA SAX HRNAI
9,600,000 9,600
Al 6,720
2 2,880
S=2 MK 2ARHI, 2+l XY 2,778 4,028 A1,250
7| 1,945
Al 833
301 LEtEXZ 1,000 2,000 A1,000
7| 700
Al 300
01 AIBIEEEAH2(2REZTHR) 1,000 2,000 A1,000
OX4ZE2 TR 22 1,000,0002 1,000
7| 700
Al 300
307 QI2H0I & 1,778 2,008 A250)
7| 1,245

_10_




2A:

==X

33 od=Nsd
el =Ry - 458 Yl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 533
11 AMEISXAEEXS 1,778 2,028 A250
O&=3 Lokt 2 =H] 1,350,000 1,350
Il 945
Al 405
O& =< Hloi &t 2+ 428,000 428
Jl 300
Al 128
S4EH X 2,851,000 2,870,000 219,000
= 1,400,900
Al 641,050
T 809,050
S 380,000 380,000 0
Al 380,000
301 EtE NS 380,000 380,000 0
Al 380,000
03 A2 E A0S (XILTHH) 380,000 380,000 0
OXM U4 Ol EMASAES
55,000,000 55,000
Al 55,000
O=M A4 0l SCASXAS
225,000,000 225,000
Al 225,000
OMM T 012 SAAITAD
100,000,000 100,000
Al 100,000
SR (XEH) 545,000 545,000
301 EtE NS 545,000 545,000
03 AR 2E A 5SS (XILHE) 545,000 545,000
OHM A4 0l= BMESAAS
220,000,000 220,000
OSM U4 Ol EMAsAES
225,000,000 225,000
OATH THH 015 SNUSXAZ
100,000,000 100,000
HdZoe satglE XA 7,000 7,000 0
= 4,900
Al 1,050
T 1,050
301 EtE NS 7,000 7,000 0
= 4,900
Al 1,050
- 1,050
01 Al 2E AL S (SN2 7,000 7,000 0

_11_




2A:

X XH -
o=

==Xt
PEEIESS

=Rl SeEY XA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON gl EaHIE X2
7,000,000& 7,000
= 4,900
Al 1,050
- 1,050
oIty SN 12,000 12,000 0
Al 12,000
301 22N 12,000 12,000 0
Al 12,000
03 A2 H A0S (XILTHH) 12,000 12,000 0
OFeIIE EMAE=s 12,000,000 12,000
Al 12,000
ZOHRIDHE S &K (XHAI) 12,000 12,000 0
301 EtE N = 12,000 12,000
03 A2 E A0S (XILTHH) 12,000 12,000
OFMeIIE EMAE=s 12,000,000& 12,000
RAFoI=A N2 1,892,000 1,892,000 0
= 1,396,000
Al 248,000
- 248,000
307 el2to| & 1,892,000 1,892,000 0
= 1,396,000
Al 248,000
T 248,000
05 2IMRIE S 1,892,000 1,892,000 0
oxggoled X 1,892,000,000& 1,892,000
= 1,396,000
Al 248,000
- 248,000
S40HE Eots 3l X 3,000 22,000 219,000
307 elzto| & 3,000 22,000 219,000
05 2I2tRIE S 3,000 0 3,000
Oty g0t 8l 24|
100,000 *30CH 3,000
fOI0ts 2E5X1# 862,386 715,458 146,928
= 175,670
Il 178,749
Al 442,367
- 65,600
OS2 At 862,386 715,458 146,928
= 175,670
Jl 178,749
Al 442,367




SN FESXD
FH: Dot EsKA
=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 65,600
OLSSIU AL S33HAE 16,100 14,400 1,700
201 fet=23y| 9,700 9,000 700
01 AtR2tc|HI 7,108 6.408 700
OOIS=XINIIRS &M 4o
70,000 *12Z*12] 840
Oots= Mgy 82 5,000
OLExE ZX & 82 =8
5,000,002 5,000
O OIS HLDS BALT
500,000& 500
OOlSE3HE Y SEHI(AIZEEAIIH)
8,0002 x1&+841x 123 768
2 35234l 2,592 2,592 0
Os&82= € MA 2,592
OOttt ZAL SEFRUE AISE
50,0003 x4CH* 12 2,400
(OFdI=FSke] UNE=1=4 16,0002« 104~ 12& 192
202 04l 500 500
01 2LHoIH 500 500
o220l 500,000 500
203 HR=AH] 500 500
03 A=A H =AY 500 500
OOtSESY T AIZFLY| 500,000 500
204 MR AH| 5,400 5,400
03 SEY =23 5,400 5,400
OolEsdgER SHALAY|
50,0002+ 12 5,400
Ol=ESHERE A 5,000 8,000 23,000
= 4,000
Al 500
- 500
201 =3 2,160 2,320 A160
= 1,728
Al 216
- 216
01 AtR2te|H] 1,680 1,720 A0
ONBUZESIAE L ARFEI} BA+Y
70,0002 x3H +83] 1,680
= 1,344
Al 168
- 168
02 s3=gHl 480 600 A120




A JEE=SX0
M I0ts EsKE

&R OtsE2E3 A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEErEEEEEL T EEE
40,0002 x1&* 122 480
= 384
Al 48
- 48
202 04l 960 1,680 AT20
= 768
Al %6
- %
01 SLHoIH 960 1,680 NT20
3010 2 DS
80,0002 x 1 x 122 960
= 768
Al %
- %
301 EtE NS 1,880 4,000 22,120
= 1,504
Al 188
- 188
01 AR 2EHSHS(RNEXRTH) 1,880 4,000 A2,120
OOtSESAHIA A 28|
1,880,000 1,880
= 1,504
Al 188
- 188
fI0ls JHEES dE0ts25H| X 4,500 9,000 24,500
= 3,150
Al 1,350
301 EtE N = 4,500 9,000 24,500
= 3,180
Al 1,350
01 Al EE AT S (2 RDEEMRA) 4,500 9,000 A4,500
O®I0ts JHEEs ME20ts2SH|
4,500,000 4,500
= 3,180
Al 1,350
fDI0ts JHEES OlsE372Hl XY 1,000 1,000 0
= 700
Al 300
301 EtE NS 1,000 1,000 0
= 700
Al 300
01 Al EE A S (2 REXMR) 1,000 1,000 0




A JEE=SX0
M I0ts EsKE

=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSI0IE JIE25 OlsBE e
1,000,000& %1 1,000
= 700
Al 300
fI0ts JIEES M20ts2&H| XA (AlH]) 6,000 0 6,000
Al 6,000
301 EtE N = 6,000 0 6,000
Al 6,000
02 ARI2HH S (FHAAS, NLHE) 6,000 0 6,000
OSIDI0tE JIHESE HSOIE2EHI (M)
1,000,000 2«32 6,000
Al 6,000
Hd2IHE & dE20lsEstl XE 84,000 0 84,000
= 58,800
Al 25,200
301 EtEE S 84,000 0 84,000
= 58,800
Al 25,200
01 Al EEABZ2(2DEEMR) 84,000 0 84,000
OdEINEAE HE0ISESHI
1,000,000 «7& =122 84,000
= 58,800
Al 25,200
JHE2IE0ts I 234,060 248,140 214,080
Al 206,610
- 27,450
301 LELE NS 234,060 248,140 14,080
Al 206,610
T 27,450
02 ARSI 2 XSG (FHAAHS, W) 234,060 224,140 9,920
Ogd=EEx3 300,000 x43H *12& 154,800
Al 154,800
Osts2xH] 2,030,000& ~12& 24,360
Al 12,180
- 12,180
OEsE=0ts NEEE=S
8,000,000 x5H 40,000
Al 28,000
- 12,000
O==&3| &l 900,000 *12] 900
Al 630
T 270
OUfstalstots &t 5,000,000& »2H 10,000
Al 7,000




SN FESXD
FH: Dot EsKA
=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,000
OV =1=1=Erdeta] 1,000,000 x4 4,000
Al 4,000
225820t MHExE 120,000 82,570 37,430
= 96,000
Al 12,000
- 12,000
301 EtE N = 120,000 82,570 37,430
= 96,000
Al 12,000
- 12,000
01 AR 2EHSHS(RNEERTHE) 120,000 82,570 37,430
OE=5=0ts NE+<
400,000 x25F « 12 120,000
= 96,000
Al 12,000
- 12,000
A0S ISR 119,824 94,474 25,350
Jl 83,877
Al 35,947
301 EtE N = 119,824 94,474 25,350
Jl 83,877
Al 35,947
01 Al EE A S(FRNEXMA) 119,824 94,474 25,350
gots sxs+4 105,486,000 105,486
Il 73,840
Al 31,646
Og=cIl2t LXK 2,114,000& 2,114
Il 1,480
Al 634
O ots d5+E 7,524,000& 7,524
) 5,267
Al 2,257
ogHIE X 2,700,000& %12 2,700
Jl 1,890
Al 810
Ogeils gd=ota
2,000,000& %12 2,000
) 1,400
Al 600
LAUH0IES 238 XIAALSE 12,000 0 12,000
= 8,400
Al 3,600




2A:

M 2D0ts ESX&A
=Rl Ol SESAY (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 12,000 0 12,000
= 8,400
Al 3,600
01 A BE X2 (R REETHA) 12,000 0 12,000
AATIAOIE 25|
1,000,000& =1+ 12& 12,000
= 8,400
Al 3,600
22 - IIEREOts AlelXIZ2 XA 6,600 2,200 4,400
= 4,620
Al 990
- 990
301 LB F 6,600 2,200 4,400
= 4,620
Al 990
- 990
01 A BEAHZ(RREETA) 6,600 2,200 4,400
Oer - IIESIEOLE MRITIZ XD
200,000 x3H+113] 6,600
= 4,620
Al 990
- 990
SiIloiots&E XA 237,182 229,554 7,628
| A,872
Al 142,310
307 gI2tol ™ 237,182 229,554 7,628
| 94,872
Al 142,310
10 AISISXAIEHE2ZHIEX 237,182 229,554 7,628
Ostiiilaiotsa e 2Zd| X2
237,182,0002 *1J1 A 237,182
| A,872
Al 142,310
SIHTIcHOtsEE SAHA=E XI& 15,120 15,120 0
Al 7,560
- 7,560
307 gI2tol ™ 15,120 15,120 0
Al 7,560
- 7,560
10 IS SXAIEHE2ZHIEX 15,120 15,120 0
Ostiiilaiotsa e SAtA =
15,120,000 171 2 15,120
Al 7,560
- 7,560
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2A: JIE=EX
HH: HAW ATWERES 9I8 BATH
Chol: MAW AW S4 (ol @
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 89,11
Al 44,556
- 44,555
HAEXI S AL BIXIAS 48,816 47,040 1,776
J| 24,408
Al 12,204
- 12,204
307 2I2+01™ 48,816 47,040 1,776
| 24,408
Al 12,204
- 12,204
05 QIZIRIErZ 48,816 47,040 1,776
OGN AL BHXI XA 48,816,000 48,816
| 24,408
Al 12,204
- 12,204
HAEARICIY T 29 12,000 12,000
307 212+01™ 12,000 12,000
05 QIZtRIErZ 12,000 12,000
OFA2EE3E BE28 23
12,000,000& 12,000
HAUEURIGRARS I3 4,000 4,000 0
| 1,000
Al 500
- 2,500
307 2Iz2+0l™ 4,000 4,000 0
| 1,000
Al 500
- 2,500
05 QIZIRIErZ 4,000 4,000 0
OFALEHZIERRAS 29 4,000,000& 4,000
| 1,000
Al 500
- 2,500
N3 LAE #0729 2,800 2,800 0
| 1,400
Al 700
- 700
307 212+01 A 2,800 2,800
J| 1,400
Al 700
- 700
05 CIZtRAErZ 2,800 2,800
— 19 —




A JEE=SX0
HH: HAW ATWERES 9I8 BATH
Chel: HAE 2E |4 EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OBAHFWRIAS 29 2,800,000 2,800
Il 1,400
Al 700
- 700
HAEsS0te] K& 11,000 11,000 0
= 4,400
Al 3,300
- 3,300
307 212t01& 11,000 11,000 0
= 4,400
Al 3,300
- 3,300
05 git?(& = 11,000 11,000 0
OEagsote|gts K& 11,000,000 11,000
2 4,400
Al 3,300
- 3,300
ad SEXE 35,142 22,857 12,285
Il 24,600
Al 5,27
- 5,271
301 LetEN= 35,142 22,857 12,285
Il 24,600
Al 5,271
- 5,271
01 Al EEABZ2(2DEEMR) 35,142 22,857 12,285
SENEUy 344 XA
35, 142,000& 35,142
Il 24,600
Al 5,271
T 5,271
dad 54 N 8,880 8,830 50
201 eer23y| 5,980 5,830 150
01 AtR2t2|HI 2,480 3,830 1,350
Ogegt+=ZHI 1,500
OFALHE E€5++2 S
1,500,000 1,500
Oo=2g=¢g 980
OFAHFHRIAS TS =&
630,000 630
OFAHEN=SS0E SAIRES 2oFA
=g 350,000 350
02 3224l 3,500 2,000 1,500




F

2A: JIE=EX
Hu: HAG AWHTES Q8 BATH
el HAE AA |4 (=CR
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFAEHEEEH & 232& KAl
3,500,000& 3,500
202 04dl 400 400
01 =LHOdH] 400 400
O&2l0H| 400,000& 400
203 AR F=&lY| 500 600 A100
03 Al FRIHRFAIY| 500 600 A100
FRAHFEX 500,000& 500
307 2I2+01 A 2,000 2,000
02 QIZHAAAIEER 2,000 2,000
O3~ oY & sEXNEES
700,000& 700
OFa2E HEXNE & Rollatd 2AES
1,300,000& 1,300
HAs HdEAE MEsE KR 107,686 61,408 46,278
= 53,843
Al 26,921
- 26,922
307 212+01™ 107,686 61,408 46,278
= 53,843
Al 26,921
- 26,922
05 QIZtRIEr S 107,686 61,408 46,278
OMASE HEEAE MES NIF
107,686,000& 107,686
= 53,843
Al 26,921
- 26,922
HAUES=EXAANYE 29 K& 108,555 74,300 34,255
| 54,278
Al 54,277
307 2Iz2+0l™ 108,555 74,300 34,255
| 54,278
Al 54,277
10 IS SXAIEHE2ZHIER 108,555 74,300 34,255
OFEAE3ZXAANE 2SN
108,555,000& 108,555
| 54,278
Al 54,277
EAEI=EXZAIE HRM4H XA 6,120 4,080 2,040
Al 3,060
- 3,060
307 2I2+01™ 6,120 4,080 2,040
Al 3,060
— 21 —




2A: JIE=EX
HH: HAW ATWERES 9I8 BATH
&l Fay AN =4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 3,060
10 MBS A S H 22X 6,120 4,080 2,040
OBAUSIS AL BAXISY
6,120,000& 6,120
Al 3,060
- 3,060
HAE Foxd 38,000 38,000 0
= 9,600
Al 12,200
- 16,200
HALESE0Y K& 24,000 24,000 0
= 9,600
Al 7,200
- 7,200
307 gI2Hol 24,000 24,000 0
= 9,600
Al 7,200
- 7,200
02 QIZtBAAIHE X 24,000 24,000 0
OF2EH=SE0E K& 24,000,000 24,000
= 9,600
Al 7,200
- 7,200
AU & AL 14,000 14,000 0
Al 5,000
- 9,000
307 gI2Hol 14,000 14,000 0
Al 5,000
- 9,000
02 QIZHBAAIEER 14,000 14,000 0
OFALE & &AL 14,000,000 14,000
Al 5,000
- 9,000
HAE ES 19,340 19,340 0
Al 8,500
- 10,840
HAH BSEs 19,340 19,340 0
Al 8,500
- 10,840
201 L2 | 1,840 1,840
01 At 22|l 1,840 1,840
OFa~E &2, 232X 2t AEIH M
500,000 500
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2A: JIE=EX
Hu: AW AWHTES 918 BBXY
ol Had 2S (ct9: &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O&ad B58s 294 500,000& 500
OStDEANY ZPXAEs| BaY
840,000& 840
301 LB F 500 17,500 A17,000
14 J|Et2 42 500 17,500 A17,000
OFLrERHEE MOEAS
500,000& 500
307 212+01 A 17,000 0 17,000
Al 8,500
- 8,500
02 QIZHBAAIEE R 17,000 0 17,000
OFAHSS (HIEHAE HILES)
13,000,000& 13,000
Al 6,500
2 6,500
OHAUES(ZAES BE)
4,000,000& 4,000
Al 2,000
- 2,000
HAUEER Ots2=sHl X3 12,000 0 12,000
= 6,000
Al 6,000
HAUERR Ot XA 12,000 0 12,000
= 6,000
Al 6,000
301 LB F 12,000 0 12,000
= 6,000
Al 6,000
01 Al B &N Z2(2REETA) 12,000 0 12,000
OFLERER Ots2sH| A&A
12,000,000 12,000
= 6,000
Al 6,000
25 & 49,903,117 47,423,192 2,479,925
= 25,159,375
Al 18,517,571
- 6,226,171
S=AH 49,903,117 47,423,192 2,479,925
= 25,159,375
Al 18,517,571
- 6,226,171
02 BE=8 15,071,200 17,696,982 A2,625,782
= 11,303,400
Al 2,637,460
— 23 —




FA OEES A
mE: 25 K
Sl 2RAIY (el @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,130,340
307 gl2tol & 16,071,200 17,696,982 N2,625,782
= 11,303,400
Al 2,637,460
- 1,130,340
05 QI2IQEFZ 15,071,200 17,696,982 N2,625,782
O02H E52 15,071,200,000& 15,071,200
= 11,303,400
Al 2,637,460
T 1,130,340
3BHl EE2 8,204,782 8,940,030 A645,248
Al 8,294,782
307 212+01& 8,294,782 8,940,030 A645,248
Al 8,294,782
05 212+ =S 6,221,782 8,940,030 A2,718,248
O35Ml 252 6,221,782,000& 6,221,782
Al 6,221,782
10 Al SXAAEEHE 22X 2,073,000 0 2,073,000
O3~5Al =cltd 2|
2,073,000,000& 2,073,000
Al 2,073,000
s 1,099,380 3,176,733 A2,077,353
= 824,535
Al 192,392
T 82,453
301 EtE NS 1,099,380 3,176,733 A2,077,353
= 824,535
Al 192,392
- 82,453
01 AR 2EHSHS(RDNEXRTHE) 1,099,380 3,176,733 A2,077,353
OoJtgegs=g A& 1,099,380,000& 1,009,380
= 824,535
Al 192,392
- 82,453
F230(Lot=) 8,759,600 2,203,4% 6,556,104
= 6,569,700
Al 1,532,930
- 656,970
301 EtE NS 8,759,600 2,203,4% 6,556,104
= 6,569,700
Al 1,532,930
- 656,970
01 Al EE A S (2 RNEXMA) 8,759,600 2,203,49%6 6,556,104
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FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEREIE= T
8,759,600,000& 8,759,600
= 6,569,700
Al 1,532,930
- 656,970
AXISE 2K 236,000 236,000 0
= 118,000
Al 59,000
- 59,000
307 glztol & 236,000 236,000 0
= 118,000
Al 59,000
- 59,000
05 eit?(& = 236,000 236,000 0
OAlRINE=S K& 236,000,000 236,000
= 118,000
Al 59,000
- 59,000
Oelold DIseE2 38,000 6,000 32,000
= 19,000
Al 9,500
- 9,500
307 @120l & 8,000 6,000 2,000
= 4,000
Al 2,000
- 2,000
11 AMEISXAIEEXS 8,000 6,000 2,000
OZ2XA00IE &yl
8,000,000 8,000
= 4,000
Al 2,000
- 2,000
401 AIEHIX R0 30,000 0 30,000
= 15,000
Al 7,500
- 7,500
01 Al&H| 30,000 0 30,000
OOCIBl0IE JHES=SAt 30,000,000 30,000
= 15,000
Al 7,500
T 7,500
2=0ts A& 887,136 913,004 N25,868
Al 443,568
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FA OEES A
B 98 19
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 443,568
307 gl2tol & 887,136 913,004 A25,868
Al 443,568
- 443,568
05 git?(& = 881,418 903,174 N21,756
OBENASE 282 X% N
26,850,000 26,850
Al 13,425
T 13,425
OO0l 255 Xt K&
854,568,000 854,568
Al 427,284
- 427,284
10 Al2ISTIAEEE2HIEX 5,718 9,830 AN412
OZlots 252 XN 5,718,000& 5,718
Al 2,859
- 2,859
ool 2SR 78,835 78,835 0
= 47,300
Al 22,074
- 9,461
307 elztol & 78,835 78,835 0
= 47,300
Al 22,074
- 9,461
10 Al2ISTIAEEE2HIEX 4,800 4,800 0
OZOHOIE 208018 Xt&2EH|
4,800,000 4,800
= 2,880
Al 1,344
- 576
11 AMEISXAEEES 74,035 74,035 0
O m=H] 74,035,000 74,035
= 44,420
Al 20,730
- 8,885
olglols X 846,850 224,890 621,960
Al 585,425
T 261,425
307 glztol & 846,850 224,890 621,960
Al 585,425
- 261,425
10 Al SXAAEEHE2EHI2x 48,800 59,890 211,090
Odtet| 48,800,000& 48,800
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FA OEES A
B 98 19
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 24,400
T 24,400
11 AMEISXAIEEES 798,050 165,000 633,050
O&dl+&bl 104,000,000 104,000
Al 52,000
- 52,000
OZ &l 78,000,000& 78,000
Al 39,000
- 39,000
OO0lglold & - 2tAll| 324,000,000 324,000
Al 324,000
Ogrg 2dd| XIg 292,050,000 292,050
Al 146,025
T 146,025
S3E00ld X 58,800 58,800 0
Al 35,400
- 23,400
307 gl2to| & 58,800 58,800 0
Al 35,400
= 23,400
EESNEEEEETEES 58,800 58,800 0
ORZHOIO0IZ DSSH N
12,000,000 12,000
Al 12,000
OSSE0el0ld x2ld el
46,800,000 46,800
Al 23,400
- 23,400
S3EE0IZ2SHI(HEALY) 942,666 942,666 0
Al 829,546
- 113,120
307 el2to| & 942,666 942,666 0
Al 829,546
- 113,120
10 AlISXAIZEHE 22X 942,666 942,666 0
O338 020y 2gHI(&&)
942,666,000 942,666
Al 829,546
- 113,120
SFuAE el2dl X& 4,750,000 4,161,530 588,470
= 2,850,000
Al 1,330,000
- 570,000
307 212+01& 4,750,000 4,161,530 588,470

_27_




FA OEES A
B 98 19
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,850,000
Al 1,330,000
- 570,000
10 Al SXAEEE 22X 4,750,000 4,161,530 588,470
OFSXA0RI0IE DA Q12|
4,750,000,000& 4,750,000
= 2,850,000
Al 1,330,000
- 570,000
AN MM K& 2,069,920 5,634,970 A3,565,050
= 1,242,440
Al 578,992
- 248,488
307 @120l & 2,069,920 5,634,970 A3,565,050
= 1,242,440
Al 578,992
- 248,488
10 Al SXAAEEHE 22X 2,069,920 5,634,970 A3,565,050
OuAL 22 Jidbl
2,069,920,000& 2,069,920
= 1,242,440
Al 578,992
- 248,488
SXWAL, HHMwWAL X123 3,642,000 0 3,642,000
= 2,185,000
Al 1,020,200
- 436,800
307 elztol & 3,642,000 0 3,642,000
= 2,185,000
Al 1,020,200
T 436,800
10 Al2ISXIAIEEE 22X 3,642,000 0 3,642,000
ONE0lE EXAL X
2,802,000,000& 2,802,000
= 1,681,000
Al 785,000
- 336,000
OUM A XIA 840,000,000 840,000
= 504,000
Al 235,200
- 100,800
220 YRME (=g 8) 1,652,236 1,644,610 7,626
Al 851,668
- 800,568
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A IEF=X L

S
Sl 2RAIY (el @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 1,652,236 1,644,610 7,626
Al 851,668
- 800,568
10 Al SXAEHE2EHIEX 1,652,236 1,644,610 7,626
OQIAHIDIXIZAIE MM b 1,439,136
OEWA MSIAHI
1,008,000,000& 1,008,000
Al 504,000
- 504,000
OO0-2AIEH, ZHOHOHEH WAL H<IH&H|
373,776,000& 373,776
Al 186,888
- 186,888
OWAF I 2E5+L(EXAMY)
57,360,000& 57,360
Al 28,680
- 28,680
OEFUAN XFEE =X Z2UE
51,100,000& 51,100
Al 51,100
022 - HOIOOIE HALS DA 4
=1 120,000,000& 120,000
Al 60,000
- 60,000
OZ O 20 201E WEF A
18,000,000& 18,000
Al 9,000
- 9,000
OZOHOIE 202 01& XtEIIAL C124H|
24,000,000& 24,000
Al 12,000
- 12,000
NL=O0LSENRME 22 723,800 692,800 31,000
201 Ler2 | 2,400 1,800 600
2 S=29| 2,400 1,800 600
O=0tES& X2 dH SH =/l
2,400,000 2,400
307 2I2+01A 721,400 691,000 30,400
05 QIZtRES 721,400 691,000 30,400
OS0BEXJHEH 22H L At
721,400,000& 721,400
ANLYSOIESERIJAME X2 (HEAI) 40,200 40,200 0
Al 30,150
- 10,050
307 gI2tol ™ 40,200 40,200 0
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FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 ABIS XAl Z 2SI 2 502,79 529,000 63,79
OWAF BIITS4(XHAIR)
55,800,000& 55,800
ONgold B2+l
39,410,000& 39,410
O2zXel o DA gEaY
4,000,000 4,000
Ozcl& el 195,000,000 195,000
OuAt SEZIHI 140,000,000 140,000
O0ielold 2 - 2tAtl 60, 184,000& 60, 184
O2& MPIMEHI 98,400,000 98,400
24A12 Ot0lZ S Ofelold X1 42,000 39,528 2,472
Al 42,000
307 @I2to| & 42,000 39,528 2,472
Al 42,000
10 Al SXAAEEHE 22X 42,000 39,528 2,472
O24A12t Ot0l=E8 Hel0ld A&
42,000,000 42,000
Al 42,000
otse =X & del sd 16,910,372 15,867,863 42,509
= 10,353,479
= 334,428
7l 781,102
Al 2,394,929
- 2,046,434
ots=Xsd 15,732,052 15,689,543 42,509
= 10,210,823
= 334,428
Jl 781,102
Al 2,377,097
- 2,028,602
OS2 EXEAR MAHMBSEX 204,000 185,692 18,308
= 142,800
Al 61,200
301 EtE NS 204,000 185,692 18,308
= 142,800
Al 61,200
01 AR 2EHSHS(RDNEXRTHE) 204,000 185,692 18,308
Ootsg XA = X
204,000,000 204,000
= 142,800
Al 61,200
AEotsHE 238 XA 132,600 561,040 A\418,440
[ 66,300
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FA OEES A
= olsol =X ¥ Mol =3
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 66,300
307 gl2tol & 132,600 551,040 A\418,440
[ 66,300
Al 66,300
10 Al SXA2EE 22X 132,600 551,040 418,440
OJl=22gHl 121,200,000 121,200
[ 60,600
Al 60,600
OFot2gdI(Creegel)
11,400,000& 11,400
= 5,700
Al 5,700
NA0tsHE SAHAF elAd] K& 536,256 0 536,256
[ 268,128
Al 268,128
307 212+01& 536,256 0 536,256
= 268,128
Al 268,128
10 Al2IS XA EEE 22X 536,256 0 536,256
OXS0tSHE SAHA 21248 X2
536,256,000& 536,256
= 268,128
Al 268,128
NS 0ISHE =otE2dd] X3 91,240 81,640 9,600
Al 25,280
- 65,960
307 212+01& 91,240 81,640 9,600
Al 25,280
- 65,960
10 Al2ISTIAIEEE 22X 91,240 81,640 9,600
OXS0otsHE! =2 )8l X3
16,000,000 16,000
Al 8,000
- 8,000
OXS0tsHE SAtA= K&
64,640,000 64,640
Al 12,480
- 52,160
OXSOtSHE SALA WS4l K&
1,000,000 1,000
OXNEotsHH 5852 A&
9,600,000 9,600
Al 4,800
- 4,800
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FA OEES A
mE: 0lS9 =X ¥ He| B
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8 XN0tsSHE FIHIE 14,616 15,600 2984
= 7,308
Al 7,308
307 el2to| & 14,616 15,600 A084
= 7,308
Al 7,308
10 AlISAAZEE 22X 14,616 15,600 2984
OS==8d I 14,616,000 14,616
= 7,308
Al 7,308
Ols =X WAL THAXIZ 151,715 148,714 3,001
= 75,718
Al 75,717
- 280
101 ©1AH| 151,435 148,434 3,001
= 75,718
Al 75,717
M ORINZZ2NSE S 161,435 148,434 3.001
OO0ts= XL AF 21 244| 151,435,000 161,435
= 75,718
Al 75,717
201 er23| 280 280
01 AtR2t2|HI 280 280
OOLS=XILAL THE &A=
280,000 280
Ols+g A=A 1,425 1,425 0
= 997
Al 214
- 214
201 fer= 3| 1,425 1,425 0
= 997
Al 214
- 214
02 S3=4gl 1,425 1,425 0
Olts=+g R8ER= 5003+2,850H 1,425
= 997
Al 214
T 214
ots=g A& 12,480,000 12,586,838 /106,838
= 9,984,000
Al 1,747,200
T 748,800
301 LEtE NS 12,480,000 12,586,838 106,838




FA OEES A
= olsol =X ¥ Mol =3
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,984,000
Al 1,747,200
- 748,800
01 Al E2E AL S(FRDEXH) 12,480,000 12,586,838 106,838
Ooots=¢ 100,000& %10,400& 122 12,480,000
= 9,984,000
Al 1,747,200
- 748,800
FHS OS2 2,120,200 2,067,144 53,056
Jl 781,102
Al 125,750
- 1,213,348
301 EtE NS 1,637,600 1,566,400 71,200
Jl 493,286
Al 79,414
- 1,064,900
01 Al EE A ZS(2DEXMR) 1,637,600 1,566,400 71,200
OZAOIE SANA(LEE E41)
763,600,000 763,600
) 493,286
Al 79,414
- 190,900
OZAlols SAXR(E - 2 - 3/, usH]
SEIIATLYS) 874,000,000 874,000
307 21201 & 482,600 500,744 A18,144
Jl 287,816
Al 46,336
- 148,448
1 AMEISXAEEXS 482,600 500,744 18,144
2AOIE SANR(BY HA, gi8tE EA
) 445,536,000& 445,536
Jl 287,816
Al 46,336
- 111,384
OZAlots SANR(E - 2 - 3/, usH]
SEIANTLYS) 37,064,000 37,064
XEE OISSEAHIA XJ 178,320 178,320 0
= 142,656
Al 17,832
- 17,832
FHAAE OlsSEAEIA X2 178,320 178,320 0
= 142,656
Al 17,832
- 17,832




FA OEES A
mE: 0lS9 =X L M| B
ol WEE OlSEFAHIA N (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
201 er23 | 58,530 63,400 A4,870
= 46,824
Al 5,853
- 5,853
01 At22telt] 25,070 28,070 23,000
Oget=ZH| 11,700
os=2s MH 10,500,000 10,500
= 8,400
Al 1,050
- 1,050
O =2 M= 60,0002 *20H 1,200
= 960
Al 120
- 120
OEEAEE JI222H] 3,000,000& 3,000
= 2,400
Al 300
- 300
OO0tSSE At 2 eIt I8 L =HI
400,000 *3H 23] 2,400
= 1,920
Al 240
- 240
O=g=¢g 3,290
OLEAEE 2R 4 =&
70,0003 *12Z 12 840
= 672
Al 84
- 84
OOIS=ADIZEAM B4 =<
70,0003 »7 H*42] 1,960
= 1,568
Al 196
- 196
OEZHAERE #fHHIM 4 =&
70,0003 12 *42] 280
2 224
Al 28
- 28
OESZYAEIE JIEH A=Y
70,000 x3EH*12] 210
= 168
Al 21
- 21




2A: JIESsX
= olsol =X ¥ Mol =3
oSl UEE OISSRAMHIA X (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OOISEEAZEIA 22|
8,000 »4H +5A1x 128 1,920
= 1,536
Al 192
- 192
Oextz 2,760
OZASAII| LXE 200,000+ 12& 2,400
= 1,920
Al 240
- 240
OAF%I| dX= 30,0002+ 12& 360
= 288
Al 36
- 36
02 S324| 8,460 10,330 A 1,870
O3222 ¢ HAl 6,460
ORE2EUE ABZ
80,0003 x4 122 3,840
= 3,072
Al 384
- 384
(@Il 10,000~ 12& 120
= %
Al 12
- 12
oMl Ie= 200,000& x12& 2,400
= 1,920
Al 240
2 240
OYEES BHATH sl
100,000 *13] 100
= 80
Al 10
- 10
OAE R XL 2,000
ORQIAHHIAIAE EES
125,000 x 12& 1,500
= 1,200
Al 150
- 150
OEHAEIE SEEZAIAE KXY
500,000& *13] 500
= 400
Al 50




FA OEES A
= olsol =X ¥ Mol =3
ol WEE OlSEFAHIA N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 50
03 A= 25,000 25,000 0
OCRAEE Z273 2
25,000,000 25,000
= 20,000
Al 2,500
- 2,500
202 04| 1,800 1,800 0
= 1,440
Al 180
- 180
01 2L AL 1,800 1,800 0
O=LHNHI 1,800
ou=s & Hxod S
300,000 x3E +23] 1,800
= 1,440
Al 180
- 180
203 gF=4| 450 450 0
= 360
Al 45
- 45
03 A=A 2= 450 450 0
OFAIMFA 450,000 450
= 360
Al 45
- 45
301 EtE NS 115,540 112,070 3,470
= 92,432
Al 11,554
- 11,554
01 Al EE A S (2 RDEEMA) 114,790 111,320 3,470
OSHAEE T4, ABEAHIA 2
114,790,000 114,790
= 91,832
Al 11,479
- 11,479
11 #AIAHIXIE S 200 200 0
OXHE S AL &SH| 200,000 200
= 160
Al 20
- 20
14 0Bt 2a3 550 550 0
Oo0ts & dollxl=d| 550,000& 550
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FA OEES A
= olsol =X ¥ Mol =3
ool AEY OISSBMHIA X COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 440
Al 55
- 55
405 KHaHE SH 2,000 600 1,400
= 1,600
Al 200
- 200
01 TR ESFISHI 2,000 600 1,400
Ol Z2HE 1,500,000& 1,500
= 1,200
Al 150
- 150
OZAE 238 500,000& 500
2 400
Al 50
- 50
HY2HHHI(OIE=R) 231,982 232,814 A832
2 (OIE=AL) 148,570 137,174 11,3%
S22 (OIE=AL) 148,570 137,174 11,3%
101 @124H| 148,570 137,174 11,3%
01 &= 142,826 131,522 11,304
Oz=22=¢ 142,826
OAe22+E
12,3212 26 x35A1 2+ 122 134,546
OAIZIRIZ 24 (0SS AL
12,3213 %1. 753 +32A1 2t 12E 8,280
02 JIEtME = 5,744 5,652 R
Ozxu=z2e=g 5,744
OAIZIRIZR4Z(IIM7S)
11,1303« 1 x3bA2H+ 123 4,675
OAIZIRIZ24Z (0SS AL
11,1303 +0. 25 «32A1 2t 12 1,069
Jl2&dl(OtssX1h) 83,412 95,640 N12,228
Jl=3H] 83,412 95,640 N12,228
201 er23| 29,172 28,920 252
01 At2teltl 29,172 28,920 252
OJI2 A2/l 21,0008 27 &~ 12& 6,804
=&l 19,968
OSZ2=4| 8,000 x26H +8A!x 12 19,968
Oogxz 2,400
OSAPI Stz 200,000& «1CH* 12 2,400
202 04l 49,920 62,400 AN12,480
01 =LHAHI 49,920 62,400 12,480




2A:

==X

M HY2IZHI(OIE=X1)
SRl J12H8I(OIE=X1) CEEREE
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OZUobl 20,0003 x26H x8« 12& 49,920
203 ZR =& 4,320 4,320
M FA2HHRFAHI 4,320 4,320
OJ = (30H0latH) 400,000 & =123 *90% 4,320

_39_




